Parts & assemble

r
B

&

Suitable for R/L use

INSTALLATION

E N DOORWIDTH | DOOR WEIGHT
mm (mm)

DOOR
THICKNESS
(mm)

wooden door

2 <850 <40~60 dens
<950 <60~80 mel;é%oor

/@) Installation of the body

|
. j\ ST4.8X32

M5X14.7

~

-

S Slider

s Adjust piece
Stop piece

Stop block

Rail
M5X14.7 &
ST4.8X25

/

N

Washer
Main arm

//\
Opening angle adj.
(Just Hold Open availadle)

Sliding direction

NO. Parts QTY || NO. Parts QTY
(1) | Body 1 (@ | Rail 1
(2) | Fixing plate 1 Washer 1
(3) | Screw M5x14.7 12 1) | Screw M6X15 1
(4) | Screw ST4.8x25 8 12 Wrench 1
@ Setting Screw M10 1 @ Fixing Screw M8 1
(8) | Stop block 1 Main arm 1
(7) | Stop Piece 1 5 | Slider 1
Adjust Piece 1 Cover 2
SPEED Adjustment
Fast<> Slow
(/D
) ? Closing adj.
Latching angle
(15°~ 0°)
Latching adj.

Closing angle
(180°~ 15°)

h

) D ) N\
S=—" | d&cF—"

Increase holding force | Decrease holding force

o

/

-

@ Fixing the arm to the slider

/

Caution:

Please install the door closer as per the installation template and ensure all the
screws are secured properly.




& Left hand opening 365 40 23 23 40 365 € Right hand opening
5 o o o o B B 3 S )
Nsts RN : . oY o @B
® /%@ QTO o® LA o o) RA o ? ? O+\ EN © i
75 _| ] 20| 220 |20 || 75 75 | 20| 220 |20 75
:I ; 195 |
275 L R 275
> ‘ Left | Right ‘ 2@ @
@O . — @)} oo : I O —— ——©© €
~z =7 =~
305 305
325 325
148 | 148 | 148 ‘.8 8, 148 ) 148 ) 148
1 1 |
I 01 == I
——— 9% — @ — o] lo—————@° ——@° —
468 468
Door ¥ 2l Doof
Frame ° ° Frame
Door ‘ ! Door,
% | | S
© i i ©
95 22 ,\/ 231 168 29 29 168 231 /( 22 95
‘ e B L /.
j m m/ 4-M5X14.7 & ST4.8X25 ﬁL j 4-M5X14.7 & sm.sxzs\m m ﬁL
! —————————————————— A ————————————————— = ————————————— g ————————————— G ————————————————— N ————————————————— !
———— = (] Z I = D 1
T ; I j = p==uj | ) : ( I == : j T S T
i L P I o it 1
‘ | ‘ 4-M5X14.7 & ST4.8X25 W Vh 4-M5X14.7 & ST4.8X25 ‘ 1
N 1 I B o N W o — 1 B
‘ \
} ! + L
= L =
33 33
@ Left hand opening @ Right_hand_openin_g
(Top jamb installation) (Top jamb installation)
657 2/ 2517 166 7 1687 2817/ 22 é5”
I i
I I
s ‘ ‘ 3
Door / o . | ) oor
Frame ‘ ‘ Frame
70 ~ 468 33 33 468 70
| = 7 N = \
| | BN BN | |
i 1 N > [ ) () p= _ 1 |
‘ : Y Y : |
‘ \ | 4-M5X14.7 & ST4.8X25 4-MB5X14.7 & ST4.8X25 —~_ | I ) |
m f i I © ! ! © il il 7t m
: I s = Mr }Ea.'rl ) 11 Ié ( Iﬁ. ’mr ] o ]
- =T - eE TR 7
777777777777777777 S e e e e e e e e e e e e
i \ \ i i \ \ 1
‘ u U\4-M5X14.7&ST4.8X25 ‘ 4-M5X14.7 & ST4.8X25 j'J u
36.5 40 23 2 -2 23 40 36.5
o O JONO) O o |
| AR AN N PED © |
! 75 220 |20] |, 75 75 | |20 220 |20 | 75 ‘
I
70 70
T\ 468 468 /1D
\ A\ h/ 7
N\ Left \ Right 2/
el le———— —— ¢ — Tod o o BB 0 o ol w2,
J 148 i 148 i 148 8 8 148 i 148 i 148 ‘.
I I === | [ | 7= === I I
e ————— ———— a———O . | L e e —— ) &




	页 1
	页 2

